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Important Instructions:

The Question Paper Booklet contains 32 pages
including instructions of the Question Paper.
In all there are 200 Questions from 1 to 200
divided into A,B,C & D Sections, of which
each Section contains 50 Questions. Section
‘D’ has two Parts. In this Section Question
Nos. 151-170 are of English, compulsory for
all. For Question Nos. 171-200 candidate has
to select either Sanskrit or Hindi. Any
complaint regarding the booklet will be
entertained within 15 minutes from the
commencement of the Test.

Candidate seeking admission in Sanskrit has
to opt Sanskrit in section D. The candidate
who has applied for BOTH Sanskrit and
General also has to opt Sanskrit only.

Follow the Instructions given at the back of
O.M.R. answer sheet for filling the answers.
The candidate should fill the serial no. and
series of this Question Paper Booklet in the
OMR Answer Sheet at the proper place,
otherwise it will not be possible to declare the
result and the responsibility for the same will
be of the candidate.

NOTE:

All the questions are compulsory.

Each questions carries 3 marks in section A, B
& D and marks for section C will be 3,2,1 and
0 in the preference order.

No Negative Marking will be done.
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Part-A/A9131—31
MENTAL ABILITY/ 9=fa Jiadr

Directions (Q. No. 1 to 3):
In each of the following questions, a set of figure carrying certain characters is given. Assuming
that the characters in each set follow a similar pattern, find the missing character in each question.

fader 4. 1 9 3)
T X T e e § uRAd g H AW 3l BT WHE 2| I8 doddl DI b aud
A fodl Ff¥ed Yed 9 = R81 & S &l & H Xd gU Ud U dl Bl B3N b Sild

PHITTY |
1.
4 7
5 1 64 3
11
(A) 0 (B) 8 (©) 125 (D) 216
2.
5 6 6 / 4 8
4 5 10
(A) 14 B) 22 (C) 32 (D) 320
3. (2)
o g
W
(A) 123 (B) 124 C) 122 (D) 112
4. There are five different houses A to E in a row. A is to the right of B and E is to the left of C

and right of A. B is to the right of D. Which of the houses is in the middle?

(A) A (B) B © C (D) D

are faff=1 7 A 9 E o3l U dfdd § €1 A, B & T 8 IR E, C & IR ol A &
SR’ €1 B,D & T/ 8| BT HbH Hed H &7

(A) A (B) B ) C (D) D
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5. In an examination Raj got more marks than Mukesh but not as many as Priya, Priya got more
marks than Gaurav and Kavita. Gaurav got less marks than Mukesh but his marks are not the
lowest in the group. Who is second in the descending order of marks?

(A) Priya (B) Kavita (C) Ry (D) Mukesh

Pl ol & I 7 oy W STGT i U By <Afd Saw 8l foras B |, O 7 iRa
3R BfI | TR i U< B | TRT 1 ¥ H HH 3 U< (B Al IHqD AP e
H 9 HF TR 2| Dl DI e F Hed HH H THM TR B §EN I IR 3T |

(A) o (B) ®fad ©) X (D) g&¥

6. Looking at a portrait of man, Harsh said, “His mother is the wife of my father’s son. I have no

brother and sister”. At whose portrait was Harsh looking?

(A) His son (B) His Cousin

(C) His Uncle (D) His nephew

TEh AEH & O @) IR T@d gV BN A HEl “SAD! AT W fanh & g3 @ ufq g1 W
HIg WS T 984 el & | &Y e = #1 IR < X7 17

(A) SHD IF Bl (B) SIP TR 9IS P
(C) 3FP Tl B (D) SIP ol DI

7. By selling an article for ¥ 110, a man loses 12%. For how much should he sell it to gain 8%?
(A) %120 (B) 125 (C) 135 (D) %140

el a%g BT 110 IH & WR 12% T B BIcil & | S9 %] WR 8% T oY o1 & oy S
fha Sur # d=m Sg?
(A) 120 (B) 125 (C) R 135 (D) X140

8. The price of an article has been reduced by 25%. In order to restore the original price, the new
price must be increased by how much percent?
(A) 12% (B) 33%% (C) 25% (D) 30%
Pl 9% &1 I3 25% b ST © | 39 T qed H o ufierd &1 gig &1 Sy 6 qa
qed T Bl SIY?

(A) 12% (B) 33%% C) 25% (D) 30%
9. If EAT is written as 22 26 7, how will you write LIP?
(A) 151416 (B) 141710 ©) 91211 (D) 151811
AfE EAT &1 22 26 7 fol@l SY AT LIP &1 &9 fol@l Sy
(A) 151416 (B) 141710 C) 91211 (D) 151811
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10.

11.

12.

13.

14.

15.

16.

17.

Mohan is 4 times as old as Shyam. If the difference of their age is 9 years, how old is Mohan?
(A) 15 years (B) 12 years (C) 14 years (D) 9 years

AIgd @I MY WM A IR AT 2| AR IFT DY MY HT R 9 9 &1 dl g fdhae a9 &7
2?

(A) 15 9§ (B) 12 @¥ (C) 14 ¥ (D) 9y

Directions (Q. No. 11 to 15):

Identify the logic between first two terms of left side portion of sign :: in following questions
and apply same logic on Right side portion of sign :: and find correct alternatives for each
question.

fader . 9. 11 9 15) -

I & ™yl d e (0) & R OR% QFT Us b A O Bl SN g8l dd qdd
ged # g (2) @ SR IR ared Q1 9&T R AN PR TS T B folt Hl f[Adhed &1 =99
I |

ACE:ZXY ::FHJ:____

(A) SOQ (B) USP (C) TRP (D) USQ
BYW :DWU :: FUS :

(A) HSQ (B) EST (C) GST (D) ESQ
MORE : NNSD :: CRAW :

(A) DQAV (B) DAPQ (C) DQBV (D) GQAL
MONKEY : XDJMNL :: TIGER : _

(A) QDFHS (B) SDFHS (C) SHFDQ (D) UJHFS

CIGARETTE : GICERAETT :: DIRECTION :
(A) RIDTCENOI (B) NORTECDII (C) NOIETCRID (D) IRDCTIONE

If air is called green, green is called blue, blue is called sky, sky is called yellow, yellow is
called water and water is called pink, then what is the colour of clear sky?

(A) Blue (B) Sky (C) Yellow (D) Water

el SIY AT Tel /ATh ATHTL DT I T BIIT?

(A) e (B) 31 (C) drerm (D) UMl

In a certain code ‘786" means ‘study very hard’, ‘958" means ‘hard work pays’ and ‘645’
means ‘study and work’. Which is the code for ‘very’?

(A) 8 B) 6 <) 7 (D) 4

fpdl MfRaa @IS d ‘786" @1 S I TS’ ‘958" I ‘BIS I UGl AR 645" DI WLl YU
qdh’ Pel S¢ Al W B fY 1 Bre 8RI?

(A) 8 B) 6 <) 7 (D) 4
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18.

19.

20.

21.

22,
23.
24.

25.
26.

27.

If 15 January 2004 was a Sunday then what was the day of 15 January 2003 -

(A) Monday (B) Saturday (C) Friday (D) Tuesday
Ife 15 SR 2004 BT (IR AT T 15 ST 2003 DI FAT IR BETT?
(A) WMHAR (B) wIfar (C) YPaAR (D) HTAR

Directions (Q. No. 19 - 21):

In the following questions, three of the four are alike and so form a group, which is the one
that does not belong to that group?

fader - 4. 19 — 21):

FR=ifhd uedl H, 9 A ¥ TR U O © SR SHIfelY Ush 9 &9 © | B9l © Sl 998
BT eI 87

(A) Parrot (B) Koel (C) Vulture (D) Swan

(A) drar (B) @I © frg (D) &4

(A) Haryana (B) Gujarat (C) Kerala (D) Maharashtra
(A) ERarom (B) ToRId (C) @ (D) HERTS
(A) Potato (B) Coriander (C) Ginger (D) Onion

(A) 3ife] (B) afar (C) SR® (D) @St

Directions (Q. No. 22 - 25):

In the following questions, choose the odd numeral pair.
fader - (wdH. 22 — 25):

fRifd u=Al H, sfl & favag g & fafed S |

(A) 140-45 (B) 110-35 (C) 100-30 (D) 80-25
(A) 133-98 (B) 150-115 (C) 182-40 (D) 188-153
(A) 12:96 (B) 13:117 (C) 15:120 (D) 16:128
(A) 15-46 (B) 12-37 (C) 9-28 (D) 8-33
College is related to student in the same way as Hospital is related to............ ?
(A) Doctor (B) Nurse (C) Treatment (D) Patient
AeTfaenead &1 faemeil & a1 € Hde § S SRUATd T oo | 8?7

(A) Sfdex (B) =9 (C) st (D) <f
Signal : Traffic :: 7 : ?

(A) Dam : River (B) Lens: Light

(C) Door: House (D) Operation : Doctor

et - b = ? 1 ?

(A) dfer: T (B) i : UahTT

(C) TXATST : | (D) 3ITURTE : Sidex

NKP-2018 (Series-A) Page 5 of 32



28.

29.

30.

31.

32,

33.

34.

35.

36.

MxN:13x14::FxR:?

(A) 7x19 (B) 5x17 ©) 14x15 (D) 5x18
BUCKET : ACTVBDJLDFSU : : BONUS : ?

(A) ACMNMOTVRT (B) SUNOB

(C) ACNPMOTVRT (D) ACMNMOTURT

If in a certain language A is coded as 1, B is coded as 2 and so on, how is BIDDIC coded?
(A) 294493 (B) 284563 (C) 375582 (D) 394492
i fdl 991 § A BT dhe 1 &, B &l & 2 & AR M 41 g & &, dl BIDDIC &T §e

FIT BNI?

(A) 294493 (B) 284563 (C) 375582 (D) 394492

If A is to the south of B and C is to the east of B, in which direction is A with respect to C?
(A) North—East (B) North—-West (C) South—East (D) South— West

ATAB DI HASTIRC,BSH qd H 2 dl A,C & dag ¥ by fazm # 22

(A) STR— (B) StR—ul=®  (C) <@o-yd (D) <f&o—ufam

One evening before sunset two friends Rakesh and Rahim were talking to each other face to
face. If Rahim’s shadow was exactly to his right side, which direction was Rakesh facing?

(A) North (B) South (C) West (D) Data inadequate

U WM BT GARK F Ugel I QR DY 3R IEH AF—AFT U G I a1 PR B o |
IfT W Bl IRBTS UheH I leld MR off a1 W9 fba feem & ame or?

(A) SR (B) <feror (C) uf¥gH (D)  SLTAT U
A 7N 15,22, ...........

(A) 31 (B) 32 (C) 34 (D) 35

703, 655, 607, 559, 511,463, ...........

(A) 413 (B) 414 (C) 415 (D) 416

A father is, at present, three times as old as his son. Five years back, he was four times as old
as his son. Find the age of his son -

(A) 12 years (B) 15 years (C) 18 years (D) 20 years

Teh O, acae H, Ud g | I O gs €| U 9¥ qd 9 39 g | IR O g3 o |
93 ®I MY T 2°

(A) 12 9§ (B) 15 a¥ (C) 18 @Y (D) 20 °§
If5x9=144;7x8=151;4x6=102,then2x5=......... ?

(A) 77 (B) 97 (C©) 107 (D) 73
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37.

38.

39

40.

Directions (Q. No. 37 - 40):

The figure given below consists of three intersecting circles which represent sets of students
who play Tennis, Badminton and Volley Ball. Each region in the figure is represented by a
small letter. On the basis of the figure, answer the questions given below.

Q
TENNIS —— A BADMINTION
e \ ALY/
—  VOLLEYBALL
R (aTefrater)

fader - (W, 37 — 40) :

FWR & TG ARG H A e g 8, o faeneil & el @ S eRar & o
<9, dsfied ok diclidiel TWeld © | 3fgfa H AT T UAd &3 &I Yo VISl &R Fardl
2| MEHA & IR TR =7 T 77 yeei & IR <Y |

Which letter represents the set of students who play all the three games?

(A) b B) ¢ © f D) ¢
DIAT AR il & 9 Hqg b1 Sidr & Ol dFl Wl Weld &7
(A) b B) © f D) g

Which letter represents the set of students who play Tennis and VolleyBall but not
Badminton?

(A) g B) e © ¢ D) b

DT &R Il & 9 WY BT WA © Sl <A iR dfelidid Weld & WR dsfed
BEI

(A) g B) e © ¢ D) b

Which letter represents the set of students who play Tennis but neither Badminton nor Volley
Ball?

(A) a (B) b ) ¢ (D) d

DIAT JeR el & S9 WHg BI WA & O M9 Weld € WR AT dl defired 3R A
g diciidrel ?

(A) a (B) b ©) c (D) d

Which letter represents the set of students who play Tennis and Badminton but not Volley
Ball?

(A) b B) ¢ ) d (D) f

DT eR el & IH AgE BT Al & O <9 &R dsfAed Weld & WR dfdtidre
TaI?

(A) b B) c ©) d (D) f
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41.

42,

43.

44.

45.

46.

Directions (Q. No. 41 - 43):

In a school, there were five teachers. A and B were teaching Hindi and English. C and B were
teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B
were teaching History and French.

fader : (WH. 41 — 43) :

e faenea § U= Rierd 9| A 3R B BT 3R 3RSl Ugl X2 9| C 3R B IS 3R et
UeT X2 U1 D SR A 7O SR {241 uer 2 9 E SR B e SR e 4er ¥& o |

Who among the teachers were teaching maximum number of subjects?

(A) A (B) B © C (D) D

Rretpi 4§ ¥ 1w fawa 9 T I3 o7

(A) A (B) B <G C (D) D

Which of the following pairs was teaching both Geography and Hindi?

(A) Aand B (B) BandC (C) Cand A (D) None of these

7= § 9 S e SR = < uer @ o7
(A) A 3R B (B) B3R C (C) C 3R A (D) TTH ¥ PIs el

More than two teachers were teaching which subject?

(A) History (B) Hindi (C) French (D) Geography
3 ¥ 31fdre Rrerd wi-ar vy ger @ 97
(A) sfoem (B) f&< (C) wa (D) e

Directions (Q. No. 44 - 45):

Arrange the given words in a meaningful sequence and identify the most appropriate sequence
from amongst the alternatives.

frder - (nd. 44 — 45) :

fQU U wreai I U Yol HH A SHgY AR QU MY fdbedl ¥ W Halfde Suygdd HH Bl
fafga sy |

(1) Appendix (1i1)) Contents (i11) Title

(iv) Chapters (v) Introduction

(A) iii, i, v,i,1iv - (B) i, i, iv,v,i (C) v, i,iv, 11,11 (D) iid, i, v, 1v, 1

() uRfRmre (i)  STIHHATOTERT (i) ¥Md®

(iv) 3T (v) uR=™

(A) iii, i, v,i,iv. (B) i, i, iv, v,i (C) v, i,1v, 11,11 (D) i, id, v, 1v, 1

(1) Punishment (i1)  Prison (111) Arrest

(iv) Crime (v)  Judgement

(A) v, i1, 1i1,1iv - (B) iv,iii, v, ii, i ©) iv,iii, v, 1,11 (D) ii,iii, i, 1v, v
() o (i) < (i) RTR

(iv) STORTET (v) T

(A) v, i1, 1i1,1iv - (B) 1iv,iii, v, ii, i (©) iv,iil, v, 1,1 (D) 1ii,iii, i, 1iv, v
How many times in a day, the two hands of a clock are at 90°?

(A) 4 B) 12 < 22 (D) 44

T fod § fhde R, O ® &7 81T 90° WR B &7

(A) 4 B) 12 C) 22 (D) 44
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47.

48.

49.

50.

Directions (Q. No. 47 - 50):

In each of the following questions, two statements 1 and 2 are followed by two conclusions 1
and 2. Read the conclusions and then decide which of the given conclusions logically follows
from the two given statements.

(A) If only Conclusion 1 follows (B) If only Conclusion 2 follows

(C) If either Conclusion 1 or 2 follows (D) If neither Conclusion 1 or 2 follows

fader : ¥, 47 — 50) -

A 3T 0 URE U H, B 1 3R 2 & 918 frhy 1 &R 2 g el @1 ufeu ok
i Sy b SFY Aepy AU 1Y &1 Sl & JfER IR GhEd & |

(A) afe BaeT fF=pd 1 T 2 (B) dfe dact foepy 2 ¥ 2
(C) Ife fepd 1 a7 2 T B (D) Ife frspy 1 @R 2 ST ToId &
Statements : 1. All fans are watches.

2. Some watches are black.
Conclusions: 1 All watches are fans.

2. Some fans are black.
B : 1. w0 dw, gfsar €

2. HB GfSAl Brell T
fspy 1. |9 afsdl U9 2|

2. BB U B T |
Statements : 1 All grasses are trees.

2. No tree is shrub.
Conclusions: 1 No grasses are shrubs.

2. Some shrubs are grasses.
B 1. N g8 2|

2. PIS g&T I A8 B |
ey 1. BIS O SISl 78l ¢ |

2. GO SSAN 919 § |
Statements : 1 Some boys are thieves.

2. Some students are boys.
Conclusions: 1 Some boys are dacoits.

2. All dacoits are boys.
HU 1. GO d8d IR B |

2. ®B ded fdeml ¥
forspy 1. B 6 ded 2 |

2. O ST ASD T |
Statements : 1.  No man is a donkey.

2. Rahul is a man.
Conclusions: 1 Rahul is not a donkey.

2. All men are not Rahul.
B : 1. ®Is W et T e 2

2. Igc SEH! ¥
fAepy 1. Igd TET e B |

2. ¥ 3MeHl B TE 2|
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1.

52.

33.

54.

354

56.

7.

S8.

Part-B/919T—d
GENERAL AWARENESS RAJASTHAN/ITHTT ST XTI

‘Hela Khayal Dangal’ is famous in which district of Rajasthan?

(A) Dausa (B) Jaipur (C) Bikaner (D) Pali

2ol Il &Tel IR & s et # ufRrg 27

(A) < (B) SR (C) PR (D) dTel
‘Pichwai’ art is related to-

(A) Meera bai (B) Ram-Sita (C) Mahadev (D) Shree krishna

ods’ derr THERT 23—
(A) IREE ¥ B) WA H  (C) HIQd ¥ (D) HHwr |

According to 2011 census the lowest density districts in Rajasthan are-

(A) Barmer - Bikaner (B) Jaisalmer - Barmer

(C) Jaisalmer - Bikaner (D) Jaisalmer - Churu

2011 @1 SO & ATHR IISRATT H R[ATH gcd dTel [Tl 5—

(A) TR — DR (B) SIHHR — dIeHR

(C) IR — IHFR (D) TR — TH

The first wind power plant of Rajasthan was established in-

(A) Amarsagar - Jaisalmer (B) Bithadi - Jodhpur

(C) Devgarh - Pratapgarh (D) Mohangarh - Jaisalmer
RIGRAT BT U Ua SHoll FI3 ATud fdam Tam o—

(A) IR — ST (B) dIBS — SEgR

(C) TaTe — UdITe (D) HAETIE — SN

‘Bari’ ornament is worn in-

(A) Neck (B) Nose (C) Ears (D)  Wrist
IR’ JARYOT IS STl B—

(A) T H (B) & #H (C) & H (D) @ H
Where did the reign of Maharana Pratap take place?

(A) Chawand (B) Gogunda (C) Udaipur (D) kumbhalgarh
AR YATd &1 JISTideAd Hal gall AT?

(A) drde (B) =T (C) SR (D) HRATS

Name the person who was expelled by Ratan Singh from his court and later he went on
asylum to Alauddin khilji-

(A) Sunder lal (B) Madan lal (C) Raghuji (D) Chetan Raghav

Y Ffgd P A gargd O IGFRE T 309 SRR W bl faar o, deon 9rq § 98
STATSEIA Reefsil T TRV H <ell 17 |

(A) gx effel (B) HTcTTet (C) g (D) ddd TEq
‘Bhomat’ area in Rajasthan is related with-
(A) Udaipur (B) Banswara (C) Bhilwara (D) Alwar

MO H A &7 Twed 8—
(A) SR ¥ (B) diarsT | (C) HidareT 4 (D)  3aR ¥
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59.

60.

61.

62.

63.

64.

65.

What was the name of first Rajasthani film?

(A) Nijarano (B) Babasa Ri Ladli

(C) Bai Chali Sasariye (D) Mhari Pyari Chanana
¥ TSR fhed BT AH Fa7 o1?

(A) faoRmMT (B) qr&Tar & TSl

(C) 918 el ARy (D) BRI WRI a=on

Who took oath as Chief Minister of Rajasthan maximum number of times?
(A) Mohanlal Sukhadia and Haridev Joshi

(B) Haridev Joshi and Bhairon Singh Shekhawat

(C) Bhairon Singh Shekhawat and Hira Lal Devpura

(D) Shivcharan Mathur and Haridev Joshi

ORI & RHAT & ®Y H |qaied IR T fhad or?

(A) HTE-TolTel gaEsaT vd gRaa Sl

(B) BR<edg Sreh gd R eramad

(C) ¥R 2@Ed Ud ERTAd Qayy]

(D) fRre=Ror AR vd sRad el

Degana region is known for which mineral in Rajasthan?

(A) Manganese (B) Coal (C) Tungsten (D) Iron ore
ST &3 oI # fd @fst @ forg SEn <imar 27

(A) TS (B) ®¥el  (C) T (D) g D
Who is known as ‘Gandhi of Rajasthan’?

(A) Bhogi Lal Pandya (B) Gokul Bhai Bhatt

(C) Janki Lal (D) Damodar Vyas

MR & T’ & ®©9 § fbd SHr Sfrar 87

(A) ARfl elret gusa (B) Mgel 9Tg 9E

(C) SIH®I oTed (D) <HIER ¥

Where is the only bird hospital of Rajasthan?

(A) Jaipur (B) Ajmer (C) Kota (D) Jodhpur
ISR BT UHHAT Uefl fafearera saf 27

(A) SR (B) 3R (C) et (D) TRIYR

What is ‘Lag — bag’?

(A) Name of bird (B) Tax levied on farmers

(C) Name of cannon (D) Name of elephant of Man Singh
AR — 9RT QAT 8°

(A) fafsar &1 9 (B) fhami R RIUT &R

(C) g &1 A (D) ¥FRiE @ gl &1 A
Rajasthan in its present shape came into the year-

(A) 1956 (B) 1957 (C) 1958 (D) 1959
TSR 31T IH oy H M7 § qu—

(A) 1956 (B) 1957 (C) 1958 (D) 1959
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66.

67.

68.

69.

70.

71.

72.

73.

Word ‘Rajasthan’ was first used by historian known as-

(A) Tod (B) G.N Sharma (C) G.C.Pande (D) Satish Chandra
Y@ SR’ BT Ugell IR TN, 7 3feIadR gRT fdar -

(A) cTis (B) Sirue. gt (C) S 9L U (D) I a<
Kali banga, an old historical site is located in the following district of Rajasthan :
(A) Bikaner (B) Ganganagar (C) Barmer (D) Jodhpur
BT, Sl Teb UfTRTRI WA &, 98 ISR & b4 f7er § Rerd g—

(A) FHR (B) TR (C) TSN (D) SEYR
The copper culture signs are available in the district of-

(A) Udaipur (B) Kota (C) Bundi (D) Alwar

qm Wi & forg fea el § Suaer 2—

(A) SR (B) dier ©) T (D) 3rAdR
The seervi, caste is in agriculture, they are found mostly in the district of-

(A) Kota (B) Jaipur (C) Jodhpur (D) Bharatpur
R onfa @l 9 91 2, A Afderere: foa e § o8 Sl 2—

(A) PIeT (B) SR (C) SIEgR (D) WRAYR

Sisodias of Mewar were regarded as-
(A) Suryavanshi  (B) Chandravanshi (C) Agnivanshi (D) Nagvanshi

Hars & RyAIfemei &f 71 7191 Sar &—

(A) gFash (B) a&azi (C) orfiash (D) HArTash

The first formal grammar of Rajasthani was written by the following -

(A) Jayasimha Siddharaja (B) Udyotan Suri

(C) Bhoja (D) Hemachandra Suri

RIS 1 Ugell / 3TaTRes AThRoT foredl T8, 791 & gIRI—

(A) I e gt (B) SIad G

(C) (D) THI= T

Who among the following is a famous singer of the Jaipur Gharana of Music?

(A) Bhim sen Joshi (B) Jasraj (C) GirijaDevi (D) Malikarjun Mansur
T & SR BRE & IRg FIdeR DI S S 58—

(A) HFE SRl (B) SRS (C) RMIRST <dr (D) AfTdIoA AR
Phad paintings of Rajasthan belong to the following school of paintings-

(A) Jaipur (B) Kota (C) Mewar (D) Bikaner

SR Bl B8 e, fEdwer @ 5 wmd 9 I 28—

(A) SR (B) @IeT (C) waTg (D) TR
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74. The Kalbeliya dance is from which district of Rajasthan -

(A) Jodhpur (B) Udaipur (C) Alwar (D) Jaisalmer

I oI I & fa el & 53—

(A) SIEgR (B) SEIR (C) IR (D) SR
75. Bagaru print is from the following part of Rajasthan -

(A) Jaipur (B) Bharatpur (C) Jhalawar (D) Nagaur

T B BUTS IoRIH & fhd Tt | 8-

(A) SRR (B) ¥WRAYR (C) SITelrars (D) FRIR
76. Bala Qila is located at-

(A) Jalore (B) Sawai Madhopur (C) Alwar (D) Baran

qren forem waf Rera g—

(A) SR (B) Ha1g ARIYR  (C) IR (D) IR
77. Who is the longest serving Chief Minister of Rajasthan -

(A) Tika Ram Paliwal (B) Vasundhara Raje

(C) Ashok Gehlot (D) Mohanlal Sukhadia

RIS ¥ I ol HY T [T I3l Ue IR B {dhar g—

(A) STBRM Ureiiared (B) IR WIS

(C) 3reNd TEatd (D) HAEAArd gErsan
78. Daulat Ram Saran was addressed in Rajasthan as-

(A) Mahatma (B) Kisano ka Messiah (C) Babuji (D) Raja

SleTd XM ARV 6I oA H FHIfed fhar SIrdr o I8 dgds—

(A) HEIHI (B) Al &1 wiler  (C) ¥ S (D) Il

79. Rajasthan Vikas Party was established by-
(A) Brij Mohan Lal Sharma (B) Buta Singh (C) Heera Lal Shastri (D) Chhotu Ram
TSR fA®hrT Uit &1 RATOAT &I ofi—
(A) TR el Tl (B) deT B (C) )1 & T (D) BICI™
80. Who is the speaker of 14" Vidhan Sabha in Rajasthan -
(A) Sumitra Singh (B) Ram Niwas Mirdha
(C) Kailash Meghwal (D) Shanti Lal Chaplot
149} TSR {991 & F9IfT BT 27
(A) ghaam Rig (B) M e gl (C) @ wgara (D) Inf=adre auaid

81. How many periods of rainfall are there in Rajasthan?

(A) 2 B) 1 © 3 (D) 4
RIORATE H 99 BT G99 fhd+ IR gIaT 87
(A) 2 B) 1 <€) 3 D) 4
82. Indira Gandhi canal was necessitated by-
(A) Rains (B) Winter (C) Water Scarcity (D) Hot summers
SIERT T 8% BT SMILIHAT gs—
(A) TAT A (B) <l ¥ (C) U™ & M | (D)  IAfRH TH A
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83.

84.

8s.

86.

87.

88.

89.

90.

91.

River Luni originates from the following district -

(A) Nagaur (B) Ajmer (C) Tonk (D) Churu
N A BT ITH W, et H -

(A) IR (B) 3SR (C) <i® D) I
Famous Chand Baori is located in the district of-

(A) Kota (B) Bharatpur (C) Alwar (D) Dausa
gig die das Rerd 7, = forer

(A) P (B) ¥WRAYR (C) 3TeleR (D) T
Which city in Rajasthan is called ‘Blue City’?

(A) Udaipur (B) Ajmer (C) Jodhpur (D) Bikaner
IR # {5 wER B el WER’ HET IIar 87

(A) IR (B) 3R (C) SIEIgR (D) HR
Garden Bada Bagh is situated at-

(A) Jaisalmer (B) Bhilwara (C) Jhalawar (D) Hanumangarh
TS a7 91T Rerg 82—

(A) SRR (B) ¥frerarst (C) wmemarg (D) &GS

Vijay Singh Pathik, a freedom fighter of Rajasthan, published a newspaper, known as-

(A) Rajasthan Kesri (B) Navin Rajasthan (C) Prabhat (D) Rajasthan Patrika
fasra Rig ufere, oM & Wd=dl AT, S e §HER UF Mdien, S 39 M |
NITET SITCAT T—

(A) ORI ST (B) 49 o= (C) 94T (D) NIoTRATE U3t
Habib Tanvir’s Film Charan Das Chor was written by which Rajasthan writer.

(A) Malchand Tiwari (B) Harish Bhadani

(C) Vijay Dan Detha (D) Arjun Deo Charan

gd19 AR Bl fhed TR AR JoRAE & b oikgsd g1 fordl g?

(A) HAreTe faard (B) BT HIGFT

(C) fasa g™ <an (D) 3G 79 IR

Who among the following was awarded Padma Vibhushan from Rajasthan?

(A) Komal Kothari (B) Vijay Shankar Vyas

(C) Natwar Singh (D) Naresh Chandra

o | e H 9 R ugH favmer § |HAria far ar —

(A) HHT BIORI (B) faoma iR =g

(C) TR Rig (D) NI =

Kamlesh Nagar Koti played for India Under 19 Cricket World Cup in the year -
(A) 2016 (B) 2015 (C) 2018 (D) 2014

HHAY AR HIfC IR €% 19 & fIeq &y # Werr 3, fr af 7 —

(A) 2016 (B) 2015 (C) 2018 (D) 2014

In Arid Desert of Rajasthan, India shares international borders with -

(A) Nepal (B) China (C) Pakistan (D) Afghanistan
RS & Y& I H IRA 37T RIS AT AT Bl &, 771 & a1er —
(A) =UTed (B) &= (C) uifbed= (D) ABITRA
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92. North Aravalli Region of Rajasthan include the following district -

(A) Dausa (B) Sirohi (C) Ajmer (D) Tonk
IR IRTTeA] &5 # o &1 = fSem |fiafera & —
(A) < (B) R (C) 3R (D) <Tid

93. Panchayati Raj system in India was inaugurated in Rajasthan at Nagaur in the year —
(A) 1958 (B) 1959 (©) 1957 (D) 1956
G ISRl 1 3R™ AR H, ISR & ARIR ¥ {69 99 H garr?
(A) 1958 (B) 1959 (C) 1957 (D) 1956

94. Traditional leader of Meena community is known as -
(A) Patel (B) Bhagat (C) Karma (D) Mukaddam
AT TS BT WRFRET -l 39 A d ST Sl & —
(A) Yo (B) Wrd (C) P (D)

95. National High Way 8, which connects Delhi with Mumbai, passes through Rajasthan. It runs
into how many kilometres in Rajasthan?
(A) 700 (B) 560 (C) 688 (D) 720
MR AR et 8 Sl faeell o g | Sihedl @ ORI | [oiRdl 2| I8 ol 4
e favetl Hiex &t 87

(A) 700 (B) 560 (C) 688 (D) 720
96. Central University was established in Rajasthan in year —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
RIS H dea1d fdeq [dermerd @ Ru=T gg 99 —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
97. Sahitya Academy, Delhi award for Rajasthani in 2017, was awarded to -
(A) B.L.Vyas (B) Ambika Datt (C) Hetu (D) Neeraj Dalia
Iy 2017 DI AIS 3fbIaH!, faoell BT ISR DT RIBR fhed Her —
(A) 9. U @ (B) 3ifddr & (C) =g (D) FReT Srferan
98. Banasthali Vidyapeeth was established in the following year —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
Il faemdis &1 weruer =1 ay H g3 —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
99. Who was the first Woman Chair Person of Rajasthan Human rights commission?
(A) Kanta Kumari Bhatnagar (B) Prabha Thakur
(C) Narendra Kanwar (D) Usha Meena
RTSIRAT AFATEBR RN B Ugell Aleell fedel B ofl?
(A) Il HARI HSANR (B) Ul ST
(C) = B (D) YT |l
100. The first Woman Chief Secretary of Rajasthan was -
(A) Meenakshi Hooja (B) Kaushal Singh
(C) Otima Bordia (D) Amarjeet Kaur
RIGIRAT DI Yo Higell g e off —
(A) el ol (B) Fuel RiE
(C) e aifca (D) 3RS BR

NKP-2018 (Series-A) Page 15 of 32



101.

102.

103.

104.

10s.

Part-C/9T—4
Teaching Aptitude / R1eror_sif¥erwar

For a teacher to make a place in society -

(A) Must stay in political party.

(B) Must fulfill his obligation.

(C) Keeping one self active in the activities of society.
(D) Accumulating more money for becoming influential.

frers o FoeT | IH 9H @ ol —

A) ot somfae ot § e anfed |

(B) o10H I BT 9T =Ry |

(C) 9T &1 fafaftral & e o1 afha @ =nfed |

(D) 3fdrd | 3fdh o Fog B JU GG BT ST AT |

As a teacher, you would like to devote your evening time to what work?
(A) In discussing politics (B) In entertainment work

(C) In other activities to earn money (D) In social work

U UG & ©9 H MY (0T A BT T7I {6 Hraf § a1 g Hr?
(A) XISTIY @ ==l dRA H (B) HARSH Hral H

(C) o+ UIftd & o=y ®Il H (D) AMINTE Braf #

A successful teacher is one who -

(A) Gives good marks (B) Checks homework regularly

(C) Keeps strict discipline (D) Remains aware about the progress of students
Ahel Rued a8l 8, Sl —

(A) 3 3P T & | (B) Faffd edrl <@ 2 |

(C) HOR AT I&T B | (D) BTE @ WA B GfT GOl 8T 2 |

Which of the following criteria would you follow when punishing students -

(A) frequency and seriousness of offence.

(B) equal punishment for all without discrimination.

(C) only the seriousness of offender.

(D) only the frequency of offence.

MY BHEI Bl gUs od F9I 7+ H ¥ [ AIUGUS BT Ured Heil?
(A) SURTY I 3Mgfa Td THRET

(B) fo=1 for=Y Wewra & ) &I 99 TUs

(C) ®get RN B TR

(D) @adt 3R Bl AR

If a student regularly comes late in school then you will -
(A) Complain to his parents (B) Find out the reasons
(C) Remove student from school (D) Punish the student in front of all students

Ife T B NaR fderea # fadd & smar g, o —
(A) SO® ATTHRT W Re™ad s (B) D HRON BT IdT R |
(C) ©BF &I faemey 9 Nare 3| (D) 9 BE & A S gfvsd dN |
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106. When would you like to take additional responsibility as a teacher?

(A) For new knowledge (B) For praise
(C) For promotion (D) For Co-operation
fR1eT & w9 H MY $9 ARTRIT ITRGIIE T =22
(A) T IE D o (B) w3 & fory
(C) Y @ ford (D) =A@ ford
107. The best way to create awareness is through-
(A) Family (B) Society
(C) Books (D) Companion
ATl UaT R & ford |atas e & —
(A) TRAR (B) AT
(C) YxId (D) 0T |
108. ......... helps to increase the general knowledge of the teacher -
(A) Students (B) Fellow teacher
(C) Newpaper-Magazines (D) Family members
JIh BT ATHE—F e § I8P & —
(A) B=H (B) Tl 3reuUd®
(C) YF—uFPHIY (D) URAR o+
109. Main objective of education is -
(A) Development of language skills (B) Development of Social Citizenship
(C) Give punishment (D) Personality development
e &1 v T S § —
(A) 9TST BIeA BT fabrT (B) IS ANTREAT BT fawrg
(C) TUS TAT (D) wfdda fawr
110. Successful leadership is -
(A) Democratic (B) Monarchic
(C) Group based (D) Dictatorship
A% < BIAl © —
(A) YTt (B) TSIz
(C) g e (D) dTTRIE

111. Teachers in the teaching profession do tuition because -
(A) Students force them to do this.
(B) Their greed for wealth has increased.
(C) Their Salary is low.
(D) With growth in their knowledge they want to disseminate it.
AT IIAR H R1eTdh YA R @, i —
(A) B S V1 B & o) 91eg P © |
(B) S &F—ATUAT 9 TS 2 |
(C) ShT dad HH 2 |
(D) W & S ¥ AINgfg 89 A 9 (U A BT TR HRAT 918 ¢ |
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112.

113.

114.

115.

116.

117.

The education given to the students by the teacher should be :-

(A) Professional education (B) Scientific education
(C) Related with Culture and spiritual (D) All above

R gRT BTl B <1 WM arell R e defta g ey —
(A) TRrerm eaai¥e (B) dsMA® =T

(C) WG Td AT A Hafdd & (D) Swad A

Depends on the teacher’s awareness -

(A) Teacher’s knowledge (B) Teacher’s financial Status
(C) Teacher’s popularity (D) Teacher’s Resourcefulness
AP BT STTHHAT IR ¥R HRar & —

(A) JIIH BT S (B) 2=amgsd @l s Rerfa
(C) IAUH Bl &I (D) 3AUSH B FAAYIT

If there is a political debate, then you -

(A) will actively participate (B) will enjoy

(C) will be one sided (D) will not pay attention
Al HET ISHIae 989 8l R8I ©, Al 377 —

(A) Sfshg 9mT < (B) o ol

(C) TP U uet &1 IR B (D) &ae T8 <

All round development of students can be done -

(A) By providing education facilities

(B) Through realisation of Social Responsibility

(C) By considering the interest of students themselves

(D) By giving them money

Bl & AT e fear S daar & —

(A) fRreror gfgem qax (B) ImIfSTa <RI &7 9/ HRID
(C) B H W & &d &1 I B (D) SADI &7 Tds

The leader of the group can only give successful leadership when he will :-
(A) Be patient (B) Be disciplined
(C) Be serious (D) Berich

g BT - O %l e & Ahdl ©, ofd a8 —

(A) eI & (B) IR &
(C) TR & (D) o1 B
Complex and difficult subject matter should be taught -

(A) According to students (B) In Sections
(C) Afterwards (D) In between
e e dfos faugeasg &1 Rieror s anfed —

(A) BEI & JTAR (B) Tusi H

(C) « # (D) -4 4
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118.

119.

120.

121.

122.

123.

124.

The best way of studying evils in the nearby society is by-

(A) Contact with students (B) Contact with parents

(C) Social survey (D) Book study

e |AST H ST RISAT BT eI DR BT FaARH AR § —

(A) BHET I GUD (B) If¥qradt & FUD

(C) WMIT® qdeTor (D) TS T

Effective decision making depends on -

(A) Leaders (B) Members

(C) Both Leaders & Members (D) Interactions between the two
gt fvfg—famior iR o=ar & —

(A) =TT &R (B) HeHl WR

(C) =il Ud HeH, Tl W (D) <Hi & &g 3fa: fhar R

I often get angry when people -

(A) Do not agree with me (B) Talk about their own interest
(C) Blame some innocent (D) Quarrel with each other

ST 3TFAR I AT &, 99 AT —

(A) 9 91 & 7§ | (B) U w@ref &7 91d B |
(C) foeft feiy &1 v < B | (D) T H SATST B B |

How to improve Education?

(A) By administrative reform (B) By changing the method of examination

(C) By spendlng more money on education (D) By recruiting best teachers
Rrer § guR {69 yepR d9g 272

(A) TS GIR §RT (B) uiEm ygfa § yRads wRab
(C) TR WR 3ifd® o9 < & (D) &5 Rierhi &1 Fgfdd o
If the students do not understand the text the teacher should -

(A) Explain again (B) Start next lesson

(C) Talk to Principal (D) Ask questions

BTA Bl U8 FHI H 7Tel 3 WX IS Dl A1y & —

(A) TART HHSIRIAT (B) ST UG YT HR QI

(C) Y& | 9T1d BN (D) U= gBI

What should teachers do to get rid of theft habit in students -

(A) Explain ill effects (B) Explain with example

(C) Give punishment (D) Scold

Bl # AN @ 3Ted BSM @ ol EAUH BT RAT BT Al ?

(A) gRTH qam A (B) ST Th] FHSIHT ARy
(C) ST <1 =1y (D) ST TR

Selection of subject requires -

(A) Scholarship (B) Educational guidance

(C) Professional guidance (D) Choice of students

ol & T4 & ford emavas € —

(A) fagar @ (B) 3f&r® fAce™ &1

(C) gad e & (D) BT BT STHT DI
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125. The teacher gets good information about the events of Country and abroad -

(A) From history books (B) From Newspapers
(C) From radio news (D) From world tour
AP BT <9 — A B TRl o = TGN U Bkl & —
(A) SiEM™ @ gdal | (B) HRIR-T31 A
(C) XfSai ¥R 9 (D) fazg yqor 9
126. While teaching in the class, the teachers should —
(A) Seek active cooperation of the students.  (B) Keep the students as passive listeners.

(C) Do not pay any attention to the students. (D) Remove the difficulties of the students.
PeT | U 99, FRretdt & =iy —
(A) BTEl & AfhT TSI BT TI B | (B) BET B HpT Siidmel & w0 § G |
(C) BEI TR BIg &I 7 ¢ | (D) Bl B HISATSAT BT G BN |

127. To motivate students in the class, the teachers should —
(A) always praise their students.
(B) always criticize their students.

(C) judiciously use praise and criticism.
(D) give such comments which neither indicate praise nor criticism.

D&l H BIA DI URT B & oy, Rierdl &1 A1i8y —
(A) BHI U BTAT B AT BN |
(B) BHIM 37U BT BT ATATIAT BN |
(C) fade & eiaT SR 3MMAT=HT BT SYART PN |
(D) U fewforai < S 9 81 WRIEA1 3R &) MMel=qg 3 & |
128. During teaching in the class if a student asks question, the teachers should —
(A) give correct answer immediately to him.
(B) ask the student to come after period for the answer.
(C) scold him and tell him not to disturb the teaching.
(D) not pay any attention and continue his teaching .
Se H UG & SR Uh B U Uyudl o, Riefd &l =iy —
(A) S dohlel Fel STaTe < |
(B) BTF &I SR & oIy HTATT & 915 3 & forv o |
(C) B9 Sic 3R S e AR § qrer S~ 9 B |
(D) PTS &9 7 < 3R I+ 10T &l oIy I |
129. The basic responsibility of teacher in the class is —
(A) to promote learning in the class.
(B) to extract school’s fee from the students.
(C) to arrange the records of the students of the class.
(D) to give extra importance to the students having tuition.
FerT H Rretd o gl e § —
(A) e ¥ IIfRTH Bl g7 |
(B) ®BE ¥ fqered geb a9 |
(C) el & B & Rbls BT FaRerd HAT |
(D) TYIE dTel BTEI BT AfdH A< AT |
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130.

131.

132.

133.

A class teacher is expected to behave with his students —

(A) more loving with intelligent students.

(B) reluctance towards poor students.

(C) equal behaviour with all the students.

(D) behaviour according to the expectations of the students.

T Hell Retds BI 310 BEI & W FIER I P IHIE 8 —
(A) FEAH BEI & A1 3Af¥6 IR |

(B) TNI§ BT @ YT 79 |

(C) w4l BE @ AT A JdER |

(D) B &I IMET & JTIR FIeR |

The teacher is considered to be the guide, because —

(A) he has unfathomable capacities to build the future society.
(B) he is a symbol of social belief.

(C) heis a guard to the society.

(D) he is indulged in giving shapes to frustrations.

R1e1r &1 91t geid 7FT SIAT ®, Hifh —

(A) SIH vfasy & AT & AT BT IfATE &THAT B |
(B) 98 AMINIG fagart &1 udid 2 |

(C) I8 99 & folU Tdh XdredT 2 |

(D) 9% $HMRN BT MHR < # fora 2|

Teaching should be mainly done by —

(A) Skilled and trained teachers (B) Untrained persons

(C) Experienced teachers (D) Young talented persons
fR1eT0T & WU F g1 fbar ST =2y |

(A) G IR yffera Rrereni (B) oruferferd safdaar

(C) orvar fRretani (D) Jar ufrHTRITet! i
To inculcate human virtues among students as a teacher —

(A) you will not do anything wrong so as not to send wrong message to the children.
(B) you will reflect all those virtues, which you wish to imbibe.

(C) you will continuously tell them and make them understand.

(D) you will bring change in the children to suit the present context.

TS e & wU H BHEI H ATl Bl f[abRid w1 & forg —

(A) 3MY B I TAd el DI dlfch g2d BT TAd Qe AT S |

(B) 39 39 |l [0l &l uffdfda w31, RS2 3 AT HRarTr ared ¢ |

(C) MY S8 IR 1T 3R I8 FHSIU |

(D) 3 IAHH HaH & AwY el H gaard g |
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134. The monitor of the class should be —
(A) The most popular student of the class. (B) The loving student of the teacher.
(C) The most powerful student of the class. (D) The extrovert student of the class.
PefT BT HAICI BHT AMEY —
(A) P BT JIA ArpOg faemeft | (B) et &1 =Ry faemedi |
(C) el BT Fad Srfaaeret faemeft | (D) e &7 afHdl faemedi |

135. Teacher can develop moral values in students, because —
(A) Teacher has ability to motivate students.
(B) Teacher is role model for students.
(C) Students have fear for teacher.
(D) Students follow every instruction of teacher.

Rt BT # Afdw qeal & el & aad € w=ife —
(A) g & faenfar &1 aRd &= @ eram €|

(B) TRrers faenfefai @ forw amest €

(C) faenfefai # Rrre & ufa v 8T &1

(D) faemeft fere & uxd®s e &1 uree &R ¢ |

136. Suppose a gifted student is sitting in the class and gives quick answers to all your questions.
What would you do with regard to your student?

(A) you will ask comparatively difficult questions and persuade him not to become
impatient.

(B) you think that he must give all the answers quickly so you can feel a sign of relief from
your responsibilities.

(C) you will tell him that this is an unhealthy behaviour in the class.

(D) you will ask difficult questions to answer so as to make him realise him that you are
among one of the best teachers.

A AU JMUBT BT | Th YfA9TIMell BT §67 § 3iR 3Mgd I Ui & @Rd SR

AT T | 3MY 3[U B & Hae § T d¥dl?

(A) MY Jo-THS Y I ST U2 Y8BT 3R S ek 7 8 & g A0 |

(B) g |Asd © & S qRa 9 SR © <A A1y aifds iy sroen RwieIRaEl & gad
&l b |

(C) 3T S w2 5 Ferm # R BT rfugad WaeR ¢ |

(D) 3y faemefl ¥ s Sfca uea qudl [ S I8 UEd™ &l & oy dad 3
et § | T T

137. This is believed that female teachers are more suitable for primary level teaching because —

(A) They work patiently and affectionately with children.
(B) They have less opportunity for other professions.

(C) They agree to work on low salary.

(D) There is no need of high qualification for this profession.

J8 AET 1Al & b Afgar Riere e wR &1 R & fofv sifte Suged &, ifs —
(A) 9 g & 91 SIgdd IR UR | B BT ¢ |

(B) S9& U =T AR ® oIy HH AR & |

(C) d B9 Id9 TR 1Y - & foIv Feqd il 2 |

(D) 39 U & foIU Sog AT &1 Blg IMaeTHdl Tl & |
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138.

139.

140.

141.

When you instruct a person to close the door and he strictly follows the instruction, then it
can be concluded that —

(A) You have given an effective instruction.

(B) The message has been received by the receiver.

(C) The message has been well explained by you.

(D) The receiver is ready to accept your order.

ST 3T el fdd BT SRASTT 9§ ®R7 &I 49 <0 € IR a8 dsls A A< &1 yred
AT & AI I8 py Pprarr S |aar g fb —

(A) M= T 99Ty focer fear 2

(B) Haw UTEI §RT Ut fham am 2 |

(C) 3 a3 Well wWifq e faram 2|

(D) UTE! 3MU® A BT WHR A $ oIy IR B |

Communication in classroom depends on —

(A) Teacher’s ability to explain (B) Difficulty level of Subject
(C) Student’s ability (D) Class —room interaction
HeT HeT H AR R FRaT ® —

(A) TeTd & W B D &HdT W) (B) fOwg &1 HfeE R R
(C) faenferai @) Iraar w (D) e id:fehar W

A teacher should —

(A) Earn money as much as he can.

(B) Make efforts for educational upliftment of students.
(C) Work for students benefits.

(D) Take care of students.

U e b1 HAT =Ry —

(A) SIfHIerd AT H &9 HAAT |

(B) BHEI & 3f&i® I & foly TawT |

(C) Bl & f8d & ®R |

(D) BTl B TEHA |

The reason of highest rate of dropouts in rural areas is —

(A) Irrelevant curriculum

(B) Poverty

(C) Eagerness for quick employment

(D) Inappropriate interpersonal relations with teachers

IToT &A1 H fJene Bre aTdl &1 |alftd R Bl R & —

(A) SRS UTSUHH (B) IRET

(C) @RA ISR & oIy IgHT (D) TRreAdpl & AT YT URWRSG Fael
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142.

143.

144.

145.

How can a teacher establish warm relationship with his students?
(A) Always laughing with them.

(B) By making suitable distances.

(C) By hearing their difficulties and resolving them.

(D) By making students his friends.

e R1erd I Bl H AR Hey fhd ISR wfd &R AdhdT &7
(A) ST 94 Bl Aol RS |

(B) 9 A g TN |

(C) STd! TR BT FA- & a1 IADT & B |

(D) BT &I (AT A7 g9 |

If some poor students want to study in extra time from you, then you —
(A) Ask them to take tuition.

(B) Keep them off.

(C) From time to time meet their difficulties as needed.

(D) Send them to another teacher.

afe @ feiF o smuv sifaRed wa # uer @red €, dr oy —
(A) SEIHT RE o9 B foIy HE |

(B) S Clod Y81 |

(C) SMMILIHAT ATAR FHI HHI W D] BISAIRAl Bl GRT BN |
(D) S el =g Rt & g 9ol |

During the educational journey, a student fights with an old man about the place of seating,
then, what will you do?

(A) will take the side of the student. (B) will explain him to respect elders.

(C) will ignore it (D) will interfere to resolve

e AT & TR 9671 BT SIS Bl B T BT Bl 9§ ¥ 3Ts doal &, ar § —
(A) BT BT YeT I | (B) W HHIS fh dSI BT MR X
(C) S IFSET BT | (D) fUe™ & foy g@a |

It is necessary to give details of the student’s progress to the parents so that —

(A) Parents can know the progress of their children.

(B) This gives proper guidance for parents to organize tuition.
(C) This keeps children in fear.

(D) Children can not give wrong information to their parents.

BT B YA BT ART ARAUTTRT BT ST AT D & —

(A) T AT 319 gl bl YIfeT S Fohel & |

(B) SN IMWIad &I SR o @l Ifd dare fHer 21
(C) 399 dedi § S¥ 947 X8l 2 |

(D) 9= AMITGh BT Teld SR Tl & Fhd |
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146. If you are evaluating, then you will —
(A) provide marks according to the work.
(B) give more marks to those who study tuition from you.
(C) give rich students more marks.
(D) give more marks to weak students.

Ife 3T JeAi o) I8 8, aT ST —
(A) B & AR B 3jd Y& B |
(B) S b b < S SMURY € Igd B |
(C) MR BHEl &I Afd® 3fd <
(D) fIws BEl o D b |
147. A teacher should use audio visual material, because —
(A) Student’s interest is created in the lesson.
(B) The focus of student’s attention remains in learning.
(C) It helps in realizing knowledge and diversification of text.
(D) All of the above.
U 3D P §eI—T AHUT BT FANT HRAT AT, Rilfh —
(A) Bl @ U8 # Bf =@ T
(B) BTAI &I &I UglE H dfvgd & € |
(C) M &I IRA[AP WY Ue™ H)4 T ure | fafderdr &= + H8rad 8l § |

(D) SURIGT I |
148. Class—room communication should be —
(A) Teacher—Centered (B) General-Focus
(C) Learner—Centered (D) Test book—Centered
PeT—he] FRIYUT EHT ARy —
(A) Rrered afed (B) M dfvad
(C) BE divad (D) UIGIYEIDh Bivad

149. While using ICT with teaching in class —
(A) No teacher will be required
(B) More work load will be there for the teacher
(C) Teacher’s role will be as a facilitator
(D) Teacher’s role will be central
pe e § ICT YYged dhRd Fod —
(A) TP BT IAITbAT ol Xail |
(B) 3D & folv IR Afdd 81 ST |
(C) JAAYSH P YABT FHID & WY H g7 |
(D) 3FEATDH B YHBT daid & ST |
150. The status of teachers in the society should be high because they -
(A) Do great mental work (B) Meet people of the society
(C) Prepare future citizens (D) Do more labour.
FATS H RIeADT BT TR ST 81 A1RY, HAifh I —
(A) JH FRID BRI B ¢ | (B) ATl & @ 9 fAerd 2 |
(C) 9TdY ARTR®I BT TIR B & | (D) 31frd 89 B B |
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151.

152.

153.

154.
155.

156.

157.

Part-D
Language Proficiency-English

Direction : (Q.151) Choose the option that is correct-

The teacher was too angry that she left the classroom-

(A) The teacher was very angry that she leave the classroom.

(B) The teacher was so angry that she left the classroom.

(C) The teacher was too angry and she had left the classroom.

(D) The teacher was too angry but she leave the classroom.

Direction : (Q.152) Choose the option with the word that is closest in meaning-
Abandon-

(A) Try (B) Join (C) Forsake (D) Adopt
Direction : (Q.153) Choose the option with word opposite in meaning-

Entangle-

(A) Twist (B) Untwist (C) Hook (D) Impede
Direction : (Q.154) Choose the correctly spelt word-

(A) Abbreviate (B) Abreviate (C) Abrreviate (D) Abriviat

Person who loves books and reading -
(A) Philologist (B) Bibliophile (C) Misogynist (D) Misologist

Directions : (Q.156-159) Read the given passage and answer the questions that follow-

At this stage of civilisation, when many nations are brought in to close and vital contact for
good and evil, it is essential, as never before, that their gross ignorance of one another
should be diminished, that they should begin to understand a little of one another’s historical
experience and resulting mentality. It is the fault of the English to expect the people of other
countries to react as they do, to political and international situations. Our genuine goodwill
and good intentions are often brought to nothing, because we expect other people to like us.
This would be corrected if we know history, not necessarily in detail but in broad outlines, of

the social and political conditions which have given to each nation its present character.

Mentality of a nation, according to the author, is a product of ................

(A) Present character (B) Politics (C) History (D) Geography

The character of a nation is the result of its-
(A) Ignorance (B) Cultural heritage
(C) Socio political conditions (D) Mentality
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158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

The need for a greater understanding between nations-

(A) 1is more today than ever before (B) was more there in the past
(C) 1isno longer there (D) has never been there
‘Genuine’ in the passage means -

(A) Historical (B) Political (C) Real (D) Fake

Directions : (Q.160 - 162) Choose the correct alternative -

............... car must be insured.

(A) A (B) An (C) The (D) Al
Everyone expected the same team ...............

(A) towin (B) was winning (C) won (D) will win
It took longer ...........ccooeeiiiin. I expected.

(A) though (B) but (C) than (D) then

Directions: (Q. 163 —164) Change the following sentences as directed in the brackets-
Only a coward would say so. (Transform into Negative)-

(A) Noteven a coward would say so (B) None but a coward would say so
(C) A coward would only not say so (D) No coward would say so
Mohini is more beautiful than Mitali. (Use positive degree)-

(A) Mohini is not so beautiful as Mitali. (B) Mohini is rather beautiful than Mitali.
(C) Mitali is not as beautiful as Mohini. (D) Mitali is as beautiful as Mohini.
Directions: (Q.165) Choose the correct Tense-

| T the stadium long before the match.
(A) reach (B) was reaching
(C) had reached (D) had been reaching

Directions: (Q.166) Change the Direct narration to Indirect narration-

She said to me, “What are you doing?”

(A) She asked me what was I doing (B) She asked me what am I doing

(C) She asked me what I was doing (D) She asked me what were you doing
Directions: (Q.167) Choose the correctly spelt word-

(A) Dicease (B) Disease (C) Desease (D) Diseese

Directions: Find one word for the group of words given below-

A person with long experience of any occupation-

(A) Veteran (B) Wizard (C) Genius (D) Expert
Directions: Choose the correct Synonym of ‘Eradicate’

(A) Emerge (B) Uplift (C) Remove (D) Increase

Directions: Give the correct Antonym of ‘Compassion’-
(A) Anxiety (B) Hatred (C) Connection (D) Conducive
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R—<
AT JI3gar - 2=

171. I97 EfY BT S99 arer fdded g—

(A) <frad (B) wSMHA (C) Jgarsm (D) weleH™
172. fr=falRad § & war 9 fawoe 98 =8 a—

(A) I + APH (B) IM + 9 (C) fa+ wH D) &+ =
173. ‘SISEE e bl A8 99N faug 8-

(A) @Il & forg & (B) @rel &T &3

(C) e 3R & (D) ISl AR &5 & T8
174. HHIRT FERT BT ST 1T fdbed B—

(A) TABHA (B) Frgad (C) SMHRYT (D) HESIErR!
175. 'S, €19 3R 91’ BT AT ITell SUT B—

(A) SU (B) 3@ (C) dfa (D) 3
176. fash aror & SRR F 9971 IS B

(A) REPR (B) *RUT (C) IreTdmen (D) TR
177. w9aTad dfgd I0T 9§49 I BT A aal fdhed a—

(A) UFER (B) o91a™ (C) orferr (D) dAHSERT
178. ‘3 &1 i+ gralr veg 8T 28—

(A) Urdd (B) @q (©) o3y (D) Sfde
179. I ¥ I8 ‘A’ B GIFar] o—

(A) o=, Seb, Hforel (B) faRma, gy, amry]

(C) 3rafy, &oft, Afesh (D) dfed, arFRY, ded
180. fauTe g &1 fAuIarRie v B—

(A) 93 (B) @ReH™ (C) 3MEalTs (D) wfd

181. BT fdded faeim oreal &I T8l <oidr a—
(A) TR (B) TRAT-ARHT  (C) WIR—PART (D) IWT—faRAT
182. *R—ER’ w8 g @ 3l BT 2

(A) WIS (B) <gd WHI qdh— I
(C) WHG—HERT D) IJg— A
183. &l T, YT d8cil 8, 98 <3 SUSS © | a1 o—

(A) 9ERY 9 (B) W@gad i (C) A g )R ELCEICEACIG
184. =1 % & fa Adey & ¥ o g B—

(A) YTd:Te, NI (B) I, <y
(C) fagHl, sirreht (D) dTeHIfdh, gPTS
185. 31Yg dTFI 8—
(A) T&T WR PIaT 91eT &7 B | (B) T Uk gfGAT drfera 2 |
(C) &>l W BT W9 a7 | (D) HET IMMAdharal JIRT T4 |
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186. {0 TR BT UM B Iche AT BT T ATl JETavT o—

(A) Sl & T (B) 3ifd TR B
(C) i@l § T Iaz (D) SiE e
187. "BIRI—PHIT TR F8] T, TR BT U oo “| fra 9IE THIS Bl T Bl
-4
(A) = (B) 9T (C) drel (D) faf

188. =1 ¥ 3YE 3MeTRS® WS &—
A) F+T=& @B q+I=F (C) T+I=% (D) T+I=4
189. THH—TGHT & 3YE ITH B—
(A) -39 (B) H=I—3FSIT (C) Vef—ger@el (D) &fe—gy
190. "SE ASE I 27| 9199 H Bl WG o—
(A) M YadTd (B) 3= qaddrd (C) 390l Yddrdl (D) MR aod drd
191. =1 & wrgarae = 8 8—

(A) A (B) AR (C) 95 (D)

192. g1 feF—1d Ued! & difds SH&T Yfaantl aier § =9+ 81 oy’ NET%ITQ’%—
(A) T qIEd T (B) St IS ARSI HH=ad qeIdH
(C) AR Az dedh (D) foama

193. & S’ AT e &' | a1 § ge’ GANT 8-

(A) Udbdadad (B) dga=d
C) Udhgad & WM R Igad (D) dgIId & WIF W Yhdad

194. SNEud ggg 9§ AT v & 28—

(A) <iRger (B) TSI (C) «&rs (D) Y

195. 771 # g€ vaiarel 99g &—

(A) f9f3r, o=, wnfae (B) oM, Yy, qgur
(C) gury, fearg, wrenid (D) Rel, IR, STelg

196. /=1 # arglg fausiamell 99 &—
(A) veT—yfcuer (B) 3MRde—1Ra® (C) Wi—Red (D) AIHY—3MHIERI
197. vdd, I a9, g3, 94, ge7 fbs sraredi & afef e—

(A) IR (B) T (C) Hr=px (D) 9RT
198. Y& AR deIdH & Tl o—

(A) S ST 9 ST b ;3o (B) 3MHIel § S dTel : W

(C) T foram gam : < (D) S RIRT g7 &1 : gfid
199. ‘YfEAH B9 BT T4 AfaRID GEaRT o—

(A) 37F BT A (B) 31da WX TR T

(C) 3 & °s Ml (D) 3TF BT Yall

200. “HIg FRIAY 8- T HEM" | AlpIfad &7 3fef 5—
(A) gt o fAzar g g9 81 ol 2 (B) T MU gredl el Brsdl |
(C) T= & Y IRT FAER BT | (D) BV 3R g | SNTE UIY I 2 |
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171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

HT—<

AT AT - G¥DHd
Yh R IR _\TQJMHR*\'I—
(A) i (B) dre] (C) <= (D)
T3 9ot 3TfRd—
(A) TPR: (B) dPHR: (C) SHR: (D)
“Ied: AN ... e ) Raa: e wafa—
(A) 9T (B) ST (C) fopam (D)
AR ST BicT?
(A) oreTeen: (B) garfdwfer (C) T (D)
T TARA IS TR JNT—
(A) &+ &q (B) <+ Iq © d+3aq (D)
e faefad sfer * Raa: = Rd—
(A) 9rg; (B) 3= (C) 3y (D)
IR’ SARAT Us URHAUTAn: IRT—
(A) g+ 7Iq (B) ©T + vaq (C) &r + v (D)
HYDHGART ATSIHART TR BIRDBH oo RIT—
(A) 4 (B) |RISTH (C) 3rTeTH (D)
JUTETAT S fAeRIdgferad dRb BT ds WI?
(A) 3UEHH (B) HRIGH (C) &H (D)
HRATYE! b FH:?
(A) HHIRT (B) MG (C) Tgoy (D)
(A) Ta=d fa (B) f=r (C) =TI (D)
IRyl IRy ggeiq: AR SEeRUMNG—
(A) T (B) HYSW: (C) Areficuetq (D)
fqw] gl 313 BT el Jaxiad?
(A) fo (B) m: (C) wEwdq (D)
WR TTAT T UGTAT NBR oo HT A7
(A) BclHq (B) STH (C) fow: (D)
3FFUTIETe U QAURAND! BT AT RITq—
(A) ggfer (B) WETH (C) o (D)
Rrdised:’ galRA SaEr Aid—fdwse: &:?

(A) Rmar + e=h: (B) Ra| + =k (C)

R + am=l: (D)
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187

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

G grar [ARfSeRE STHIPYRI gldaer wu Jiasfa—

(A) B (B) HIH (C) BIH (D) I

g Sfa Ue aTgadrRed Ra—

(A) ¥ + dicddR (B) ¥ + gfeaddrR (C) T + dsadR (D) 1 + fAf¥fasadar

M I T vy waaRd—

(A) XTI (B) <™y (C) Mo (D) XTI
Y 3Telg aTagARd—

(A) STl (B) fugw: wer

(C) SUTHTAT el (D) B U YCTH:
BRG] Hafd—

(A) Ud (B) WS ©) ¥ (D) e

e faumae =y fRa—

(A) ST Fedl(B) BAISTRI |ANT: (C) Fae = ueH (D) WR: AlSTHY: |
EAIE TR UeT SleTur S1Rd—

(A) STRUGRITYM: (B) YEUGRIUET: (C) SMIUGRIU: (D) SHIUGTUVE:
foeer g vafa—

(A) A[J—TTY (B) dd—ddqg (C) F@r—aq (D) T3

TP SRARHT U Gepfuedl: AT—

(A) T+ IR (B) QI+ 3 (©) T+t (D) A +

=Ty gy Yg—draaq 3Tfd—

(A) B PRI (B) P RIS

(C) BT HIENSASTRIT (D) PR HENSHASTRIT

qrg:’ Sid Uawd Arafdwes: aTRd—

(A) T + 3P (B) I + 3@ (C) W+ 3 (D) Ol + 3

qifdhaR: &:?

(A) urfor= (B) Ydsifel (C) BT (D) aNENTS

JMRIIR YT Bicder: i ?

(A) Tfder (B) =Ifder (C) u=fder: (D) vfder:

hereleasd ggli—agadd wu Afafa—?

(A) THeTRITH (B) Wolw: (C) B (D) eld
//
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